Meocebraicte-

Find the inverse of the linear funct’
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2. y=4x-5

15x-13
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9. y=(x-3)"+3

10. y=2(x-2)*+3

11. y=-2(x-12+4

12. y=x*+2

13. y=3(x+1)°+6

14. y=+x+3

15. y=—vx-1

16. y=-Vx+5



H.W.

Find the 32" term of each sequence:

1. 34,37,40,43,... 2, 213,201,189,177, .. 3. 9,4,-1,-6,...

Find the missing term(s):

IO N I s 5. ..10L] ],-115,... 6. ..65[ ],-60,...

7. .LL LI L[ 1,-35.... 8. .=17[ L[ I.[ 1.1, 9. .(a+1),[ LI L[ ].(a+17),..

Write a recursive and an explicit (nth) formula for each sequence.

10. 0,6,12,18,24,... 11. —4,-8,-12,~16,-20,... 12. 27,15,3,-9,-21,...

13. -2,5,12,19,26,... 14. -5,-3.5,-2,-0.5,1,... 15. 0

Given two terms of each arithmetic sequence, find a, and d.

16. a,=5anda, =11 17. a; =32 and a, =-§ 18. a,=17 and a,, =34



